
型號 VC2211M  VACUUM CLEANER

1 / 4頁次



型號 VC2211M  VACUUM CLEANER

2 / 4頁次



型號 VC2211M  VACUUM CLEANER

3 / 4頁次



型號 VC2211M  VACUUM CLEANER

4 / 4頁次



型號 VC2211M  VACUUM CLEANER

列印日期 12/10/2018

頁次 1 / 4

請訂購一個零件。

分解圖號 零件編號 品名 交換 數量 N/O 選擇1 選擇2 註記

001 452451-7 機座 1

002 800W80-2 CAUTION LABEL 1

003 141915-3 COWLING COMPLETE 1

    D10 INC. 4-6

004 451340-3 握把 1

005 891977-8 注意標籤 1

006 423456-4 TOP DAMPER 1

007 266053-1 螺絲 4X35 9

009 265995-6 攻牙螺絲 4X18 2

010 451343-7 開關固定座 1

011 650659-9 開關 1

012 686023-8 插座套 8

013 620185-2 SUB CONTROLLER 1

014 961013-5 停止圈 E-7 2

015 961062-2 擋圈             F/M925 1

016A 685740-7 RUBBER SHEET 1

016Z 685741-5 RUBBER SHEET 1

017A 655124-3 OUTLET 1

017Z 655125-1 OUTLET 1

018A 816L62-8 CAUTION LABEL 1

018Z 800W84-4 CAUTION LABEL 1

    D10 INC. 18

019A 144935-6 SWITCH BASE HB-M COMPLETE 1

019Z 144934-8 SWITCH BASE LB-M COMPLETE 1

020A 266640-6 +COUNTERSUNK TAPPING SCREW4X25 4

020Z 266630-9 自攻螺丝 4X16 4

021 213054-0 Ｏ圈 9           F/HM1302 1

022 451344-5 開關旋鈕 1

023 213054-0 Ｏ圈 9           F/HM1302 1

024 451344-5 開關旋鈕 1

025 213176-6 Ｏ圈14 1

026 451342-9 開關桿 1

027 423450-6 REAR BLOCK FILTER 1

028A 620467-2 CONTROLLER 1

028Z 620466-4 CONTROLLER 1

029A 692450-9 POWER SUPPLY CORD 1.5-3-5.0 1

029Z 695360-9 POWER SUPPLY CORD 1.5-3-5.0 1

030 265999-8 螺絲 4X25 2

031 687149-9 電線固定片 1

032Z 688131-1 濾襯             F/TD0101F 1

033Z 688131-1 濾襯             F/TD0101F 1

034 620186-0 BUZZER CIRCUIT 1

035 266053-1 螺絲 4X35 5

036 682575-7 電線保護套 1

037 141917-9 SEPARATOR COMPLETE 1

    D10 INC. 38

038 423462-9 DC MOTOR SEAL 1

039 423279-0 封圈70           F/406 1



型號 VC2211M  VACUUM CLEANER

列印日期 12/10/2018

頁次 2 / 4

請訂購一個零件。

分解圖號 零件編號 品名 交換 數量 N/O 選擇1 選擇2 註記

040 451338-0 馬達蓋 1

041 241512-6 馬達心風葉62     F/406 1

042 424228-0 橡膠圈 120 1

    D10 INC. 44-50,52,54,55,126

043A 125878-1 电机总成 1

043Z 125873-1 馬達組件 1

044 911283-6 螺絲 M5X60 2

045 195483-8 碳刷 CB-173 1

046 452106-4 尾部座 1

047A 643610-6 碳刷固定架  6.5X13.5 2

047Z 643663-5 碳刷座 6.5X13.5 2

048 911118-1 盤頭螺絲 M4X12 2

049 687010-0 塑膠調帶 1

050 267715-4 波狀墊片20       F/406,906H 1

051 211092-6 培林 629DDW 1

    D10 INC. 51,53

052A 518745-1 转子组件 1

052Z 517845-4 馬達心           F/VC 1

053 211087-9 軸承 1

    C10 654304-8 端子 2

054A 526203-3 定子 1

054Z 526201-7 外線圈           F/VC 1

055 454480-6 1

056 316795-8 凸緣片           F/406 1

057 241910-4 風扇 1

058 325747-8 間隔裝置 1

059 346114-4 旋轉葉片 1

060 241910-4 風扇 1

061 316799-0 Ｆ華士10         F/406 1

062 931403-6 六角螺帽 M8 1

063 346115-2 風扇罩 1

064 424229-8 支撐環 1

065 423451-4 BAND DAMPER 1

066 684900-8 VYNIL TUBE 1

067 421468-1 繩子塞 2

068 141916-1 TANK COVER COMPLETE 1

    D10 INC. 65,69

069 423455-6 VALVE SEAL 2

070 851C51-2 VC2211M NAME PLATE 1

071 266053-1 螺絲 4X35 2

072 629981-5 DC MOTOR 1

073 454207-4 GEAR CASE 1

074 911003-8 螺絲 M3X6 2

075 267067-3 Ｆ華士12 1

076 226283-6 直齿轮 15 3

077 153228-0 直齿轮组件 1

078 226284-4 直齿轮 15 3

079 226285-2 内齿轮 42 1



型號 VC2211M  VACUUM CLEANER

列印日期 12/10/2018

頁次 3 / 4

請訂購一個零件。

分解圖號 零件編號 品名 交換 數量 N/O 選擇1 選擇2 註記

081 211375-4 軸承  6805LLB 1

082 267464-3 FLAT WASHER 34 1

083 135554-9 SPINDLE ASSEMBLY 1

084 424543-2 RUBBER RING 1

085 424544-0 SEAL RING 1

086 961060-6 擋圈 S-20 1

087 267041-1 平面墊圈20       F/4112 1

088 213304-3 Ｏ圈 20 1

089 454208-2 CAM 1

090 141919-5 OUTER VALVE COMPLETE 2

091 141918-7 INNER VALVE COMPLETE 2

092 632A68-0 LEAD UNIT 2

093 454204-0 INNER COVER 1

094 266053-1 螺絲 4X35 5

095 454209-0 PROTECTOR 1

096 266053-1 螺絲 4X35 3

097 234273-5 COMPRESSION SPRING 20 2

098 454215-5 LOCK PLATE 1

099 454214-7 LOCK LEVER 1

100 268292-9 PIN 4 1

101 266257-5 攻牙螺絲 4X18 3

102 417587-9 支架板 1

103 451455-6 支架 1

104 266192-7 自攻螺絲 4X14 4

105 266192-7 自攻螺絲 4X14 4

106 168537-4 固定扣 2

107 451545-5 固定扣座 2

108 188828-7 TANK SET 1

    D10 INC. 109,110

109 424346-4 橡膠環T 1

110 911118-1 盤頭螺絲 M4X12 1

111 451546-3 前蓋 1

112 213655-4 Ｏ圈 56 1

113 451454-8 進氣環 1

114 911103-4 螺絲M4X6           F/LC1230 1

115 649150-2 排電線120        F/406 1

116 424270-1 緩衝條 1

117 451643-5 車輪蓋 2

118 961060-6 擋圈 S-20 2

119 267299-2 平板墊片 20 2

120 451642-7 車輪 170 2

121 331888-0 連結管 20-350 1

122 168547-1 車輪 75 1

123 141875-9 POWDER FILTER M COMPLETE 2

124 423452-2 DAMPER 2

125 196253-8 PRE-FILTER SET 2

126 213406-5 Ｏ圈 30 1

A01-1 195433-3 集塵管28-3.5 1



型號 VC2211M  VACUUM CLEANER

列印日期 12/10/2018

頁次 4 / 4

請訂購一個零件。

分解圖號 零件編號 品名 交換 數量 N/O 選擇1 選擇2 註記

    C20 417191-4 袖口鎖 1

    C30 417586-1 1

    C40 417662-1 套管 1

    C50 417766-9 FRONT CUFF 38 1

    D10 INC. A02,A03

A02 417765-1 前面環口  22 1

A03 424379-9 前面環口  24 1

A04 141873-3 BELT HOOK COMPLETE 1

A05 166116-2 軟管帶 2

A06 195440-6 集塵袋(10PCS/1SET) 1

A07 424545-8 CAP 1

E01Z 655030-2 PLUG UK TYPE 16A-4H/110V 1

E02Z 652006-0 SCREW M3.5X8 2

E03Z 654091-9 NON-INSULATED TERMINAL1.25-2AF 2

E04Z 654092-7 NON-INSULATED TERMINAL 1


